
N = 217

217 circles in a 1x0.20000 rectangle

radius =   0.015891603043
ratio  =  12.585262761482

density  = 0.860825309535
contacts = 585

 E.SPECHT
17-AUG-2010

N = 218

218 circles in a 1x0.20000 rectangle

radius =   0.015771122920
ratio  =  12.681405186563

density  = 0.851729332237
contacts = 485

 E.SPECHT
08-AUG-2010

N = 219

219 circles in a 1x0.20000 rectangle

radius =   0.015722929738
ratio  =  12.720275631714

density  = 0.850415053499
contacts = 421

 E.SPECHT
08-AUG-2010

N = 220

220 circles in a 1x0.20000 rectangle

radius =   0.015686317078
ratio  =  12.749965400401

density  = 0.850324195243
contacts = 426

 E.SPECHT
08-AUG-2010

N = 221

221 circles in a 1x0.20000 rectangle

radius =   0.015682287475
ratio  =  12.753241535289

density  = 0.853750502281
contacts = 582

 E.SPECHT
17-AUG-2010

N = 222

222 circles in a 1x0.20000 rectangle

radius =   0.015559743033
ratio  =  12.853682710178

density  = 0.844262874892
contacts = 367

 E.SPECHT
07-AUG-2010

N = 223

223 circles in a 1x0.20000 rectangle

radius =   0.015517403922
ratio  =  12.888753879159

density  = 0.843456851209
contacts = 427

 E.SPECHT
07-AUG-2010

N = 224

224 circles in a 1x0.20000 rectangle

radius =   0.015507959829
ratio  =  12.896602919189

density  = 0.846208201230
contacts = 607

 E.SPECHT
11-AUG-2010

N = 225

225 circles in a 1x0.20000 rectangle

radius =   0.015414147583
ratio  =  12.975093103829

density  = 0.839733387216
contacts = 431

 E.SPECHT
07-AUG-2010

N = 226

226 circles in a 1x0.20000 rectangle

radius =   0.015389196501
ratio  =  12.996130109031

density  = 0.840737088366
contacts = 598

 E.SPECHT
17-AUG-2010

N = 227

227 circles in a 1x0.20000 rectangle

radius =   0.015356598653
ratio  =  13.023717329174

density  = 0.840883445090
contacts = 603

 E.SPECHT
18-AUG-2010

N = 228

228 circles in a 1x0.20000 rectangle

radius =   0.015346914377
ratio  =  13.031935611970

density  = 0.843522874611
contacts = 622

 E.SPECHT
11-AUG-2010


